
 

15 Check whether the following lines are 
parallel 

a. = + 2 4 + (2 + 3 + 6 )   
 = 3 + 3 5 + (2 + 3 + 6 ) 

b. Find the shortest distance between 
the above two lines 

 

 
 

 
(1) 
 
(3) 

16 Given three identical boxes, I, II and III, each 
containing two coins. In box-I, both coins 
are gold coins, in box-II, both are silver 
coins and in box-III, there is one gold and 
silver coins. A person chooses a box and 
takes out a coin. If the coin is of gold, what 
is the probability that the other coin in the 
box is also of gold? 

 
(4) 

 

 
Questions 17-20 carry 6 scores each.  

Answer any Three 
 
 

 

17 Solve the following system of equations 
by matrix method 
 

2x+3y-2z=1 
2x+y-z=2 
x-2y+z= 3 
 

 

(6) 

18 Evaluate 

a.   

b. 2 x   

c.   

 

 
(2) 
 

(2) 
 

(2) 
 

 

19 If   = 5 3      = + 3 5  
a. Find the angle between    
b. Show that +   and   are 

perpendicular 
c. Find the area of parallelogram with 

adjacent sides    
 
 

 
 
(2) 
 
(2) 
 
(2) 

20 Solve the following Linear Programming 
Problem 
 

Minimize  Z = -3x + 4y 
 

Subject to  x+2y ≤ 8 
                      3x +2 y ≤ 12 
                      x ≥0,   y ≥0 

(6) 
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MATHEMATICS

       Time : 2 Hours                                     Total Score : 60
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There is a of 15 minutes in addition to the writing time.

Use the to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the Exam-
ination hall.

\nÀ-±n-ã- k-a-b-¯n-\v ]p-d-sa 15 an-\n-äv "IqÄ Hm-^v ssSw' D-ïm-bn-cn-¡pw.

"IqÄ Hm-^v ssSw' tNm-Zy-§Ä ]-cn-N-b-s]Sm\pw D-¯-c-§Ä B-kq-{X-Ww sN-¿m\pw 
D-]-tbm-Kn-¡p-I.

D-¯-c-§Ä F-gp-Xp-¶-Xn-\v ap-¼v tNm-Zy-§Ä {i-²m-]qÀ-Æw hm-bn-¡Ww.

\nÀ-t±-i-§Ä ap-gp-h\pw {i-²m-]qÀ-Æw hm-bn-¡Ww.

IW-¡v Iq-«-epIÄ, Nn-{X§Ä, {Km-^p-IÄ F¶n-h D-¯-c-t]-¸-dnÂ X-s¶ D-ïm-bn-cn-
¡Ww.

tNm-Zy-§Ä a-e-bm-f-¯nepw \Â-In-bn-«pïv.

B-h-iy-ap-Å Øe-¯v k-a-hm-Iy-§Ä sIm-Sp-¡Ww.

t{]m-{Km-ap-IÄ sN-¿m-\m-Im-¯ ImÂ-¡p-te-ä-dp-IÄ H-gn-sI-bp-Å H-cp C-e-{Îm-Wn-Iv 
D-]-I-c-Whpw ]-co-£m-lm-fnÂ D-]-tbm-Kn-¡p-hm³ ]m-SnÃ.

General Instructions to Candidates:

hnZymÀ-°n-IÄ-¡p-Å s]m-Xp\nÀ-t±-i-§Ä:

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

 
 

15 = + 2 4 + (2 + 3 + 6 )  
= 3 + 3 5 + (2 + 3 + 6 ) 

 

a. Cu h-c-IÄ k-am-´-c tc-J-IÄ B-tWm?  

b. ap-I-fn-ep-Å h-c-IÄ X-½n-ep-Å G-ähpw 
Ip-dª A-I-ew I-ïp-]n-Sn-¡pI. 
 

 
 
(1) 
 
(3) 

16 H-cp t]m-se-bpÅ 3 s]-«n-IÄ, A-h-bnÂ       
Hm-tcm-¶n-epw 2 tIm-bn³ hoXw. H-¶ma-s¯ 
s]-«n-bnÂ c-ïv tKmÄ-Uv tIm-bn³,              
c-ïma-s¯ s]-«n-bnÂ c-ïp knÂ-hÀ     
tIm-bn³. aq-¶ma-s¯ s]-«n-bnÂ 1 tKmÄ-Uv 
tIm-bn³,   1 knÂ-hÀ tIm-bn³. H-cmÄ H-cp 
s]-«n F-Sp-¡-]-¶p. A-XnÂ \n-¶v H-cp tIm-
bn³ F-Sp¯p. F-Sp¯ tIm-bn³ tKmÄ-Uv 
B-sW-¦nÂ s]-«n-bnÂ DÅ tIm-bn³ 
tKmÄ-Uv B-hm-\p-Å km[y-X F-´mWv? 

 

 

(4) 

 

17 ap-XÂ 20 h-sc-bpÅ tNm-Zy-§-fnÂ G-sX-¦n-epw 
3 F-®w D -̄cw F-gp-Xp-I. 6 kv-tImÀ hoXw. 

 
17 Nph-sS \Â-In-bn-cn-¡p-¶ k-a-hm-Iy-Iq-«-¯n-

sâ ]-cn-lm-cw am-{Sn-Iv-kv co-Xn D-]-tbm-Kn-¨v 

I-sï-¯pI. 

2x+3y-2z=1 
2x+y-z=2 
x-2y+z= 3 

 

 

(6) 

18 hn-e Im-Wp-I  

a.   

b. 2 x   

c.   

 

 
(2) 
 

(2) 
 

(2) 
 

 

19    = 5 3 , = + 3 5  B-bmÂ 

a.  Dw  X-½n-epÅ tIm¬ I-ïp-]n-Sn-¡pI. 

b.  + ,  ew-_w B-sW-¶v sX-fn-bn-
¡pI.  

  bpw   bpw km-am-´-cn-I-¯n-sâ  A-Sp-¯ 
h-i-§Ä B-sW-¦nÂ ]-c-¸f-hv I-ïp-]n-Sn-
¡pI.  

  

 
(2) 
 
(2) 
 
(2) 

20 Nph-sS sIm-Sp-¯n-cn-¡p-¶ eo-\n-bÀ t{]m-{Km-
anw-Kv t{]m-»-¯n-sâ ]-cn-lm-cw Im-WpI.  
 

G-ähpw Ip-d-ª hne   Z = -3x + 4y 
\n-_-Ô-\-§Ä-¡p hn-t[-b-am-bn  

      
     
     

(6) 



 
Questions 1-8 carry 3 scores each. 

Answer any Six 
 
 
 
 
 

1 a. Find the principal value of sin-1(1) 
 

b. Evaluate using principal values  

tan-1 (-1) + tan-1( 3 ) 
 

 

(1) 
 
(2) 

2 a. Construct a 3x3 matrix  
A=       
 

b. Check whether A is symmetric or not 
 
 

(2) 
 
 

(1) 

3 a. Find the adjoint of the matrix  

A = 2 3
5 7  

 

b. Verify that Adj A = A  for the 
above matrix A 

 
 

(2) 
 
 
 
(1) 

4 Consider the function 

          ( ) =  
1, > 1

0,            = 1
,      < 1

 

a. Find f(0) 
b. Check whether f(x) is continuous at x=1 
 

 

 
 
 

 
(1) 
(2) 

5 a. The radius of a circle is increasing 
uniformly at the rate of 3 cm/sec. Find 
the rate at which the area of the circle 
is increasing when the radius is  5 cm. 
 

b. The function f(x)= x2 is increasing in 
           .  [ 2, 2]     .  [ 2, 0]  
        .  [0, 2]         . [ 2,2] 

 
 

 

(2) 
 
 
 
(1) 

6 a. The order of the differential equation 

2  +  + 6 =                 

i. 1        ii. 2       iii. 3        iv. 4 
 

b. Check whether y= 2 cosx + 3 sinx is a 

solution of   + =  
 

 

 

(1) 
 
 
 
 
(2) 

7 Find the maximum and minimum values 

of the function  f(x)= 4x3-6x2-72x+30  
 

(3) 
 

 

8  ( ) = ( ) =
1
2

  ( ) =
3
4

,  

a. P(A B) 
b. P(A/B) 
c. P(A-B) 
 

 
 
(1) 
 

(1) 
 

(1) 
 

 
 

Questions 9-16 carry 4 scores each. 
Answer any Six 

 

 
 

9 a.  = {1,2,3}.    
     : A 

b. A function : R is defined by 

f(x)= x2+1. Check whether f(x) is 

i. One-one 

ii. Onto 

iii. Bijective 
 

 

 

(1) 
 
 
 

 
(1) 
 

(1) 
 

(1) 

 
10 Consider the matrix  A= 

3 2 2
1 2 3
2 1 3

 

a. Find A2 
b. Write A as the sum of a symmetric 

and a skew-symmetric matrix 
 

 
 

 
 
 
 
(1) 
 

(3) 
 

 

11 Find     if 

a. Y = log (secx) 
b. xy = yx 

 
 

 

 
 

(1) 
(3) 

12 Using properties of definite integrals, 

evaluate    log   
 
 
 

(4) 

13 Find the area enclosed by the ellipse  

+ = 1 
 

(4) 

14 Solve the differential equation cos  =

 cos +  

(4) 

 

1 ap-XÂ 8 h-sc-bpÅ tNm-Zy-¯nÂ G-sX-¦n-epw              

6 F-®-¯n-\v D -̄cw F-gp-Xp-I. 3 kv-tImÀ 
 
 
 

1 a. sin-1(1)sâ {]n³-kn-¸Â hn-e I-ïp-]n-Sn-
¡pI.  
 

b. {]n³-kn-¸Â hn-e D-]-tbm-Kn-¨v  
tan-1 (-1) + tan-1( 3 ) I-ïp-]n-Sn-¡pI.  
 
 

 

(1) 
 
(2) 

 

2 a. A= F-¶ 3x3 am-{Sn-Iv-knÂ      

B-bmÂ A F-gp-Xp-I  
 

 

b. A F-¶ am-{Sn-Iv-kv kn-½-{Sn-Iv- BtWm  
F-¶v ]cn-tim-[n-¡Pi 

 
 

(2) 
 
 

(1) 

 

3 a. am-{Sn-Iv-kv A = 2 3
5 7  bp-sS AUv-tPm-

bnâv I-ïp-]n-Sn-¡pI.  
 

b. ap-I-fn-se am-{Sn-Iv-kv D-]-tbm-Kn-¨v  

Adj A = A  F-¶v sX-fn-bn-¡pI. 
 
 

 

 
(2) 
 
(1) 

 
4 ^-Mv-j³ ( ) =  

1, > 1
0,            = 1

,      < 1
 

a. f(0) ImWp-I 
 

b. f(x)  F-¶ ^-Mv-j³ x=1 F-¶- _nµp-hnÂ  
I¬-Sn-\yqh-kv BtWm F-¶v ]cn-tim-[n-
¡pI. 
 

 

 
 
 
 
 
(1) 
(2) 

 

5 
 

a. H-cp hr-¯-¯n-sâ B-cw Xp-SÀ-¨-bm-bn    

3 cm/sec hÀ-²n¨p-sIm-ïn-cn-¡p¶p. 
B-cw 5 sk.an B-Ip-t¼mÄ hr-¯-¯n-sâ 
]-c-¸-f-hn-sâ am-äw F-{X-bm-Wv.  
 

 

b. f(x)= x2 F¶ ^-Mv-j³ hÀ-²n-¡p¶-Xv 
Nph-sS sIm-Sp-¯n-cn-¡p-¶-h-bnÂ G-Xv 
CâÀ-sh-enÂ BWv. 

.  [ 2, 2]     .  [ 2, 0]  
  .  [0, 2]         . [ 2,2] 

 

 

(2) 
 
 
 
 
(1) 

6 a. Un{^³jyÂ kahmIy¯vnsâ HmÀUÀ 
FgpXpI. 

 2  +  + 6 =                 
i. 1      ii. 2     iii. 3     iv. 4 

b.   = 2 cosx + 3 sinx F¶Xv + = 0 

F¶- Un{^³jyÂ kahmIy¯n-sâ  
]-cn-lm-camtWm F-¶v ]cn-tim-[n-¡pI 
 

 

(1) 
 
 
 
 
(2) 

7 f(x)= 4x3-6x2-72x+30 F-¶ ^-Mvj-sâ  
G-äh-pw Ip-d-ª hn-ebpw G-ähpw IqSn-b  
hn-ebpw I-W-¡m-¡pI. 

 

(3) 

 

8 ( ) = ( ) = , ( ) = ,  BbmÂ  

a. P(A B) 
b. P(A/B) 
c. P(A-B)  

F¶nh Iïp]nSn¡pI 

 

 
 
 
(1) 
 

(1) 
 

(1) 
 

 

9 apXÂ 16 hscbpÅ tNmZy¯nÂ GsX¦nepw       
6 F®w D¯cw FgpXpI. 4 hoXw kvtImÀ 

 

 

9 a.  = {1,2,3} BsW¦nÂ  : A 
 Bb Hcp CIzmhtâkv dntej\v    
  DZmlcWw FgpXpI. 

b. ^Mv-j³ : RF-¶-Xv f(x)= x2+1. 
B-bmÂ, f(x) F¶Xv 

i. h¬ þ h¬ 

ii. h¬ þ Sp 

iii. ss_-P-Îo-hv BtWmF-¶v]cn-tim-[n¡pI 
 
 
 

 

(1) 
 
 
 
(1) 
 

(1) 
 

(1) 

 
10 

am-{Sn-Iv-kv A=
3 2 2
1 2 3
2 1 3

]-cn-K-Wn-¨mÂ  

a. A2 ImWp-I 

b. A  F-¶ am-{Sn-Iv-kn-s\ H-cp kn-½-{SnIv,  
kv-Iq kn-a-{Sn-Iv am-{Sn-Iv-kp-I-fp-sS Xp-I 
B-bn F-gp-XpI.  
 

 

 
 
 
 
(1) 
 

(3) 
 

 

11   ImWpI 
 

a. Y = log (secx) 
b. xy = yx 
 
 

 
(1) 
 

(3) 

12 C³-{S-¦Â t{]m-¸À-«o-kv D-]-tbm-Kn-¨v  
hn-e Im-WpI.  

   log   

 

(4) 

13 + = 1 F-¶ F-en-]v-kv-sâ  

]-c-¸f-hv Im-WpI.     
 

(4) 

 

14 cos = cos + F-¶ Un-{^³-

jyÂ k-a-hmIyw \nÀ-Zmc-Ww sN-¿pI. 
 

(4) 



 
Questions 1-8 carry 3 scores each. 

Answer any Six 
 
 
 
 
 

1 a. Find the principal value of sin-1(1) 
 

b. Evaluate using principal values  

tan-1 (-1) + tan-1( 3 ) 
 

 

(1) 
 
(2) 

2 a. Construct a 3x3 matrix  
A=       
 

b. Check whether A is symmetric or not 
 
 

(2) 
 
 

(1) 

3 a. Find the adjoint of the matrix  

A = 2 3
5 7  

 

b. Verify that Adj A = A  for the 
above matrix A 

 
 

(2) 
 
 
 
(1) 

4 Consider the function 

          ( ) =  
1, > 1

0,            = 1
,      < 1

 

a. Find f(0) 
b. Check whether f(x) is continuous at x=1 
 

 

 
 
 

 
(1) 
(2) 

5 a. The radius of a circle is increasing 
uniformly at the rate of 3 cm/sec. Find 
the rate at which the area of the circle 
is increasing when the radius is  5 cm. 
 

b. The function f(x)= x2 is increasing in 
           .  [ 2, 2]     .  [ 2, 0]  
        .  [0, 2]         . [ 2,2] 

 
 

 

(2) 
 
 
 
(1) 

6 a. The order of the differential equation 

2  +  + 6 =                 

i. 1        ii. 2       iii. 3        iv. 4 
 

b. Check whether y= 2 cosx + 3 sinx is a 

solution of   + =  
 

 

 

(1) 
 
 
 
 
(2) 

7 Find the maximum and minimum values 

of the function  f(x)= 4x3-6x2-72x+30  
 

(3) 
 

 

8  ( ) = ( ) =
1
2

  ( ) =
3
4

,  

a. P(A B) 
b. P(A/B) 
c. P(A-B) 
 

 
 
(1) 
 

(1) 
 

(1) 
 

 
 

Questions 9-16 carry 4 scores each. 
Answer any Six 

 

 
 

9 a.  = {1,2,3}.    
     : A 

b. A function : R is defined by 

f(x)= x2+1. Check whether f(x) is 

i. One-one 

ii. Onto 

iii. Bijective 
 

 

 

(1) 
 
 
 

 
(1) 
 

(1) 
 

(1) 

 
10 Consider the matrix  A= 

3 2 2
1 2 3
2 1 3

 

a. Find A2 
b. Write A as the sum of a symmetric 

and a skew-symmetric matrix 
 

 
 

 
 
 
 
(1) 
 

(3) 
 

 

11 Find     if 

a. Y = log (secx) 
b. xy = yx 

 
 

 

 
 

(1) 
(3) 

12 Using properties of definite integrals, 

evaluate    log   
 
 
 

(4) 

13 Find the area enclosed by the ellipse  

+ = 1 
 

(4) 

14 Solve the differential equation cos  =

 cos +  

(4) 

 

1 ap-XÂ 8 h-sc-bpÅ tNm-Zy-¯nÂ G-sX-¦n-epw              

6 F-®-¯n-\v D -̄cw F-gp-Xp-I. 3 kv-tImÀ 
 
 
 

1 a. sin-1(1)sâ {]n³-kn-¸Â hn-e I-ïp-]n-Sn-
¡pI.  
 

b. {]n³-kn-¸Â hn-e D-]-tbm-Kn-¨v  
tan-1 (-1) + tan-1( 3 ) I-ïp-]n-Sn-¡pI.  
 
 

 

(1) 
 
(2) 

 

2 a. A= F-¶ 3x3 am-{Sn-Iv-knÂ      

B-bmÂ A F-gp-Xp-I  
 

 

b. A F-¶ am-{Sn-Iv-kv kn-½-{Sn-Iv- BtWm  
F-¶v ]cn-tim-[n-¡Pi 

 
 

(2) 
 
 

(1) 

 

3 a. am-{Sn-Iv-kv A = 2 3
5 7  bp-sS AUv-tPm-

bnâv I-ïp-]n-Sn-¡pI.  
 

b. ap-I-fn-se am-{Sn-Iv-kv D-]-tbm-Kn-¨v  

Adj A = A  F-¶v sX-fn-bn-¡pI. 
 
 

 

 
(2) 
 
(1) 

 
4 ^-Mv-j³ ( ) =  

1, > 1
0,            = 1

,      < 1
 

a. f(0) ImWp-I 
 

b. f(x)  F-¶ ^-Mv-j³ x=1 F-¶- _nµp-hnÂ  
I¬-Sn-\yqh-kv BtWm F-¶v ]cn-tim-[n-
¡pI. 
 

 

 
 
 
 
 
(1) 
(2) 

 

5 
 

a. H-cp hr-¯-¯n-sâ B-cw Xp-SÀ-¨-bm-bn    

3 cm/sec hÀ-²n¨p-sIm-ïn-cn-¡p¶p. 
B-cw 5 sk.an B-Ip-t¼mÄ hr-¯-¯n-sâ 
]-c-¸-f-hn-sâ am-äw F-{X-bm-Wv.  
 

 

b. f(x)= x2 F¶ ^-Mv-j³ hÀ-²n-¡p¶-Xv 
Nph-sS sIm-Sp-¯n-cn-¡p-¶-h-bnÂ G-Xv 
CâÀ-sh-enÂ BWv. 

.  [ 2, 2]     .  [ 2, 0]  
  .  [0, 2]         . [ 2,2] 

 

 

(2) 
 
 
 
 
(1) 

6 a. Un{^³jyÂ kahmIy¯vnsâ HmÀUÀ 
FgpXpI. 

 2  +  + 6 =                 
i. 1      ii. 2     iii. 3     iv. 4 

b.   = 2 cosx + 3 sinx F¶Xv + = 0 

F¶- Un{^³jyÂ kahmIy¯n-sâ  
]-cn-lm-camtWm F-¶v ]cn-tim-[n-¡pI 
 

 

(1) 
 
 
 
 
(2) 

7 f(x)= 4x3-6x2-72x+30 F-¶ ^-Mvj-sâ  
G-äh-pw Ip-d-ª hn-ebpw G-ähpw IqSn-b  
hn-ebpw I-W-¡m-¡pI. 

 

(3) 

 

8 ( ) = ( ) = , ( ) = ,  BbmÂ  

a. P(A B) 
b. P(A/B) 
c. P(A-B)  

F¶nh Iïp]nSn¡pI 

 

 
 
 
(1) 
 

(1) 
 

(1) 
 

 

9 apXÂ 16 hscbpÅ tNmZy¯nÂ GsX¦nepw       
6 F®w D¯cw FgpXpI. 4 hoXw kvtImÀ 

 

 

9 a.  = {1,2,3} BsW¦nÂ  : A 
 Bb Hcp CIzmhtâkv dntej\v    
  DZmlcWw FgpXpI. 

b. ^Mv-j³ : RF-¶-Xv f(x)= x2+1. 
B-bmÂ, f(x) F¶Xv 

i. h¬ þ h¬ 

ii. h¬ þ Sp 

iii. ss_-P-Îo-hv BtWmF-¶v]cn-tim-[n¡pI 
 
 
 

 

(1) 
 
 
 
(1) 
 

(1) 
 

(1) 

 
10 

am-{Sn-Iv-kv A=
3 2 2
1 2 3
2 1 3

]-cn-K-Wn-¨mÂ  

a. A2 ImWp-I 

b. A  F-¶ am-{Sn-Iv-kn-s\ H-cp kn-½-{SnIv,  
kv-Iq kn-a-{Sn-Iv am-{Sn-Iv-kp-I-fp-sS Xp-I 
B-bn F-gp-XpI.  
 

 

 
 
 
 
(1) 
 

(3) 
 

 

11   ImWpI 
 

a. Y = log (secx) 
b. xy = yx 
 
 

 
(1) 
 

(3) 

12 C³-{S-¦Â t{]m-¸À-«o-kv D-]-tbm-Kn-¨v  
hn-e Im-WpI.  

   log   

 

(4) 

13 + = 1 F-¶ F-en-]v-kv-sâ  

]-c-¸f-hv Im-WpI.     
 

(4) 

 

14 cos = cos + F-¶ Un-{^³-

jyÂ k-a-hmIyw \nÀ-Zmc-Ww sN-¿pI. 
 

(4) 



 

15 Check whether the following lines are 
parallel 

a. = + 2 4 + (2 + 3 + 6 )   
 = 3 + 3 5 + (2 + 3 + 6 ) 

b. Find the shortest distance between 
the above two lines 

 

 
 

 
(1) 
 
(3) 

16 Given three identical boxes, I, II and III, each 
containing two coins. In box-I, both coins 
are gold coins, in box-II, both are silver 
coins and in box-III, there is one gold and 
silver coins. A person chooses a box and 
takes out a coin. If the coin is of gold, what 
is the probability that the other coin in the 
box is also of gold? 

 
(4) 

 

 
Questions 17-20 carry 6 scores each.  

Answer any Three 
 
 

 

17 Solve the following system of equations 
by matrix method 
 

2x+3y-2z=1 
2x+y-z=2 
x-2y+z= 3 
 

 

(6) 

18 Evaluate 

a.   

b. 2 x   

c.   

 

 
(2) 
 

(2) 
 

(2) 
 

 

19 If   = 5 3      = + 3 5  
a. Find the angle between    
b. Show that +   and   are 

perpendicular 
c. Find the area of parallelogram with 

adjacent sides    
 
 

 
 
(2) 
 
(2) 
 
(2) 

20 Solve the following Linear Programming 
Problem 
 

Minimize  Z = -3x + 4y 
 

Subject to  x+2y ≤ 8 
                      3x +2 y ≤ 12 
                      x ≥0,   y ≥0 

(6) 
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Read questions carefully before answering.

Read the instructions carefully.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the Exam-
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\nÀ-±n-ã- k-a-b-¯n-\v ]p-d-sa 15 an-\n-äv "IqÄ Hm-^v ssSw' D-ïm-bn-cn-¡pw.
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B-h-iy-ap-Å Øe-¯v k-a-hm-Iy-§Ä sIm-Sp-¡Ww.

t{]m-{Km-ap-IÄ sN-¿m-\m-Im-¯ ImÂ-¡p-te-ä-dp-IÄ H-gn-sI-bp-Å H-cp C-e-{Îm-Wn-Iv 
D-]-I-c-Whpw ]-co-£m-lm-fnÂ D-]-tbm-Kn-¡p-hm³ ]m-SnÃ.

General Instructions to Candidates:

hnZymÀ-°n-IÄ-¡p-Å s]m-Xp\nÀ-t±-i-§Ä:

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

 
 

15 = + 2 4 + (2 + 3 + 6 )  
= 3 + 3 5 + (2 + 3 + 6 ) 

 

a. Cu h-c-IÄ k-am-´-c tc-J-IÄ B-tWm?  

b. ap-I-fn-ep-Å h-c-IÄ X-½n-ep-Å G-ähpw 
Ip-dª A-I-ew I-ïp-]n-Sn-¡pI. 
 

 
 
(1) 
 
(3) 

16 H-cp t]m-se-bpÅ 3 s]-«n-IÄ, A-h-bnÂ       
Hm-tcm-¶n-epw 2 tIm-bn³ hoXw. H-¶ma-s¯ 
s]-«n-bnÂ c-ïv tKmÄ-Uv tIm-bn³,              
c-ïma-s¯ s]-«n-bnÂ c-ïp knÂ-hÀ     
tIm-bn³. aq-¶ma-s¯ s]-«n-bnÂ 1 tKmÄ-Uv 
tIm-bn³,   1 knÂ-hÀ tIm-bn³. H-cmÄ H-cp 
s]-«n F-Sp-¡-]-¶p. A-XnÂ \n-¶v H-cp tIm-
bn³ F-Sp¯p. F-Sp¯ tIm-bn³ tKmÄ-Uv 
B-sW-¦nÂ s]-«n-bnÂ DÅ tIm-bn³ 
tKmÄ-Uv B-hm-\p-Å km[y-X F-´mWv? 

 

 

(4) 

 

17 ap-XÂ 20 h-sc-bpÅ tNm-Zy-§-fnÂ G-sX-¦n-epw 
3 F-®w D -̄cw F-gp-Xp-I. 6 kv-tImÀ hoXw. 

 
17 Nph-sS \Â-In-bn-cn-¡p-¶ k-a-hm-Iy-Iq-«-¯n-

sâ ]-cn-lm-cw am-{Sn-Iv-kv co-Xn D-]-tbm-Kn-¨v 

I-sï-¯pI. 

2x+3y-2z=1 
2x+y-z=2 
x-2y+z= 3 

 

 

(6) 

18 hn-e Im-Wp-I  

a.   

b. 2 x   

c.   

 

 
(2) 
 

(2) 
 

(2) 
 

 

19    = 5 3 , = + 3 5  B-bmÂ 

a.  Dw  X-½n-epÅ tIm¬ I-ïp-]n-Sn-¡pI. 

b.  + ,  ew-_w B-sW-¶v sX-fn-bn-
¡pI.  

  bpw   bpw km-am-´-cn-I-¯n-sâ  A-Sp-¯ 
h-i-§Ä B-sW-¦nÂ ]-c-¸f-hv I-ïp-]n-Sn-
¡pI.  

  

 
(2) 
 
(2) 
 
(2) 

20 Nph-sS sIm-Sp-¯n-cn-¡p-¶ eo-\n-bÀ t{]m-{Km-
anw-Kv t{]m-»-¯n-sâ ]-cn-lm-cw Im-WpI.  
 

G-ähpw Ip-d-ª hne   Z = -3x + 4y 
\n-_-Ô-\-§Ä-¡p hn-t[-b-am-bn  

      
     
     

(6) 

 


